PRODIRECTIONAL

(Scale: 5":100' (10"))

5 INCH MD-Gamma Ray Log

Company: Tapstone Energy
Well: Mangen 36-34-10 #1H
Field: Mississippi Lime

Well ID: 15-007-24248-01-00
Job Number: LKS6115914

Location: Sec. 36 T34S, R10W
Operator 1: Ken Mitchell

Operator 2: Lance Flores

Comment 1: LAT: 37°3' 0.999 N / LONG: 98°21' 47.246 W

Comment 2: Y: 139619.00 / X: 2039949.00

Comment 3: Mud Density (Ib/bbl): 8.8 / Funnel Viscosity (sec/qt): 27
Comment 4: Flowline Temp (DegF): 88°/ HTHP Filtrate (ml/30 min): 99

State: KS
County: Barber
Country: USA

Elev KB: 22' + 1,301' = 1,323

Elev DF: 1,323’
Elev GL: 1,301'

Comment 5: Max Temp (DegF): 156° (NAD 1927) Gamma Ray in Reference to Elev KB (Kansas South 1502)

Hole Data Casing Record

Size From To Size From To

12 1/4 0' 806' 95/8 0' 806

8 3/4 806 5,159 7" 0' 5,157

61/8 5,159 9,100’
Tool Run Data Run #1 Run #2 Run #3 Run #4 Run #5
Tool S/N 2581 3024 3024 2581 2581
Cal Factor 4.752 2.75 2.75 2.75 2.75
Gamma Offset 44' 38' 38' 38' 38'
Start Depth 3,270 5,113 6,064' 7,432 7,762
Start Date 12/06/2014 12/10/2014 12/11/2014 12/13/2014 12/14/2014
Start Time 11:12 00:24 09:00 17:35 16:21
End Depth 5,113 6,064' 7,432 7,762 8,453'
End Date 12/08/2014 12/11/2014 12/13/2014 12/14/2014 12/15/2014
End Time 12:01 00:20 6:56 8:29 14:45
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End Date

End Time

Gamma API (MD) Track: 1 Depth ROP (MD) Track: 1
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#106 MD:6980.0 TVD:4731.7 1:90.3 A:179.6 VS:2624.1

#107 MD:7011.0 TVD:4731.6 1:90.2 A:179.8 VS:2655.1

#108 MD:7072.0 TVD:4731.6 1:89.7 A:179.8 VS:2716.1

#109 MD:7103.0 TVD:4732.0 1:89.1 A:179.4 VS:2747 1
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#110 MD:7135.0 TVD:4732.6 1:88.6 A:179.4 VS:2779.1
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#111 MD:7166.0 TVD:4733.5 1:88.2 A:179.5 VS:2810.1

#112 MD:7198.0 TVD:4734.6 1:87.7 A:179.2 VS:2842.0

#113 MD:7229.0 TVD:4735.9 1:87.5 A:179.3 VS:2873.0

#114 MD:7260.0 TVD:4737.2 1:87.8 A:179.5 VS:2904.0

#115 MD:7292.0 TVD:4738.3 1:88.0 A:179.4 VS:2936.0

#116 MD:7323.0 TVD:4739.5 1:87.9 A:179.4 VS:2966.9

#117 MD:7355.0 TVD:4740.7 1:87.7 A:179.7 VS:2998.9
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#118 MD:7387.0 TVD:4742.0 1:87.5 A:179.6 VS:3030.9

#119 MD:7418.0 TVD:4743.4 1:87.4 A:179.8 VS:3061.9

#120 MD:7449.0 TVD:4744.7 1:87.8 A:179.3 VS:3092.8

#121 MD:7481.0 TVD:4745.9 1:87.8 A:179.1 VS:3124.8

#122 MD:7513.0 TVD:4747.1 1:88.1 A:179.4 VS:3156.8

#123 MD:7544.0 TVD:4748.1 1:88.1 A:179.7 VS:3187.8

#124 MD:7576.0 TVD:4749.1 1:88.3 A:179.7 VS:3219.7
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#125 MD:7607.0 TVD:4750.1 1:88.2 A:179.6 VS:3250.7

#126 MD:7639.0 TVD:4751.0 1:88.3 A:180.0 VS:3282.7

#127 MD:7671.0 TVD:4752.0 1:88.3 A:180.2 VS:3314.7

#128 MD:7702.0 TVD:4752.8 1:88.6 A:180.4 VS:3345.7

#129 MD:7734.0 TVD:4753.6 1:88.6 A:180.5 VS:3377.7

#130 MD:7766.0 TVD:4754.5 1:88.2 A:180.6 VS:3409.7

#131 MD:7797.0 TVD:4755.4 1:88.6 A:180.6 VS:3440.7




#132 MD:7829.0 TVD:4755.9 1:89.5 A:180.4 VS:3472.6

#133 MD:7861.0 TVD:4756.1 1:89.7 A:180.4 VS:3504.6

#134 MD:7892.0 TVD:4756.3 1:89.8 A:179.8 VS:3535.6

#135 MD:7924.0 TVD:4756.3 1:90.0 A:179.8 VS:3567.6
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#136 MD:7955.0 TVD:4756.5 1:89.1 A:180.2 VS:3598.6
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#137 MD:7987.0 TVD:4757.0 1:89.2 A:180.2 VS:3630.6
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#138 MD:8018.0 TVD:4757.4 1:89.4 A:180.0 VS:3661.6
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#139 MD:8050.0 TVD:4757.6 1:89.8 A:180.3 VS:3693.6

#140 MD:8082.0 TVD:4757.7 1:90.1 A:180.4 VS:3725.6

#141 MD:8113.0 TVD:4757.6 1:90.2 A:179.9 VS:3756.6

#142 MD:8144.0 TVD:4757.6 1:89.8 A:179.8 VS:3787.6

#143 MD:8176.0 TVD:4757.7 1:89.9 A:179.7 VS:3819.6

#144 MD:8207.0 TVD:4757.9 1:89.1 A:179.5 VS:3850.6

#145 MD:8238.0 TVD:4758.4 1:89.0 A:179.6 VS:3881.6




00U

\ N
\ ¢
\ f
el
8270 —-
4
J
}
: 8280 e
e
8290 -
i
8300 .
£
DY
¢
8310 e
>
¢
S
8320 -
{ $
( 3
\ 3
- 8330 -~
8340 g‘
Z
3
<'{
8350 ~
<
—
-- 8360—f—=—y
/ %
8370 -~
2
\ ;1
Fg
8380 —
-
- 8390t
{
8400 -
i
{
\ 2
8410 =
<
l\ f:
- 8420 -
( >
S ']
D, {
- 8430 -~
{ t.
\ }
4
8440 —
AN
\ \
) —
- 8450
?
{
g
8460 g
4
8470
4

#146 MD:8270.0 TVD:4759.0 1:89.0 A:179.6 VS:3913.6

#147 MD:8302.0 TVD:4759.3 1:89.9 A:179.8 VS:3945.6

#148 MD:8333.0 TVD:4759.3 1:90.3 A:179.6 VS:3976.6

#149 MD:8365.0 TVD:4759.3 1:89.5 A:179.7 VS:4008.6

#150 MD:8396.0 TVD:4759.9 1:88.5 A:179.6 VS:4039.6

#151 MD:8427.0 TVD:4760.7 1:88.5 A:179.5 VS:4070.6

#152 MD:8459.0 TVD:4761.5 1:88.5 A:179.6 VS:4102.6
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#153 MD:8490.0 TVD:4762.3 1:88.6 A:179.6 VS:4133.6

#154 MD:8522.0 TVD:4763.0 1:88.8 A:179.1 VS:4165.6

#155 MD:8553.0 TVD:4763.7 1:88.5 A:179.0 VS:4196.6

#156 MD:8584.0 TVD:4764.6 1:88.5 A:178.9 VS:4227.5

#157 MD:8616.0 TVD:4765.3 1:88.8 A:179.0 VS:4259.5

#158 MD:8647.0 TVD:4765.9 1:88.9 A:178.8 VS:4290.5

#159 MD:8679.0 TVD:4766.5 1:88.9 A:178.5 VS:4322.5
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#160 MD:8711.0 TVD:4767.1 1:89.1 A:178.7 VS:4354.5

#161 MD:8743.0 TVD:4767.4 1:89.7 A:178.8 VS:4386.5

#162 MD:8774.0 TVD:4767.6 1:89.7 A:178.7 VS:4417.5

#163 MD:8806.0 TVD:4767.7 1:90.0 A:178.9 VS:4449.5

#164 MD:8837.0 TVD:4767.6 1:90.2 A:178.9 VS:4480.5

#165 MD:8869.0 TVD:4767.6 1:89.9 A:178.2 VS:4512.5

#166 MD:8900.0 TVD:4767.8 1:89.5 A:177.6 VS:4543.4
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#167 MD:8932.0 TVD:4768.0 1:89.5 A:177.5 VS:4575.4

#168 MD:8963.0 TVD:4768.2 1:89.8 A:177.4 VS:4606.4

#169 MD:8995.0 TVD:4768.4 1:89.7 A:177.0 VS:4638.3

#170 MD:9050.0 TVD:4768.8 1:89.4 A:176.8 VS:4693.3







